Removing magic from the normal distribution and the Stirling and Wallis formulas.

Mikhail Kovalyov, email: mkovalyo@ualberta.ca Published in Mathematical Intelligencer, 2011, Volume 33, Number 4.

§1. Introduction.

The Wallis formula is often written as

$$\frac{2}{1} \cdot \frac{2}{3} \cdot \frac{4}{3} \cdot \frac{4}{5} \cdot \frac{6}{5} \cdot \frac{6}{7} \cdot \frac{8}{7} \cdot \frac{8}{9} \cdot \frac{10}{9} \cdot \frac{10}{11} \cdot \frac{12}{11} \cdot \frac{12}{13} \cdot \frac{14}{13} \cdot \frac{14}{15} \cdots = \frac{\pi}{2}$$
(1.1a)

with the meaning that the sequence of partial products $p_1 = \frac{2}{1}$, $p_2 = \frac{2}{1} \cdot \frac{2}{3}$, $p_3 = \frac{2}{1} \cdot \frac{2}{3} \cdot \frac{4}{3}$, $p_4 = \frac{2}{1} \cdot \frac{2}{3} \cdot \frac{4}{3} \cdot \frac{4}{5}$, $p_4 = \frac{2}{1} \cdot \frac{2}{3} \cdot \frac{4}{3} \cdot \frac{4}{5} \cdot \frac{6}{5}$, ... of the left-hand side of (1.1a) converges to $\frac{\pi}{2}$. Since the partial product of the first 2n terms $p_{2n} = \left[\frac{2^{2n}(n!)^2}{(2n)!\sqrt{2n+1}}\right]^2$ we may rewrite (1.1a) as

$$\lim_{n \to +\infty} \frac{2^{2n} (n!)^2}{(2n)! \sqrt{n}} = \sqrt{\pi},$$
(1.1b)

which is often used to obtain the ubiquitous Stirling formula

r

$$\lim_{m \to +\infty} \frac{e^m m!}{m^m \sqrt{m}} = \sqrt{2\pi},\tag{1.2}$$

described in McCartin, 2006 as "providing an intriguing connection between π and e." To obtain (1.2) we rewrite (1.1b) as

$$\lim_{n \to +\infty} \frac{(f_m)^2}{f_{2m}} = \sqrt{2\pi}, \quad f_m = \frac{e^m \ m!}{m^m \ \sqrt{m}}.$$
 (1.3)

Since $f_m > 0$, $\frac{f_{m+1}}{f_m} = \frac{e}{\left(1 + \frac{1}{m}\right)^{m+0.5}} = e\left(\frac{m}{m+1}\right)^{m+0.5} < 1$, sequence f_m is positive and monotonically decreasing and as such must have a non-negative limit. To show that $\lim_{m \to +\infty} f_m \neq 0$, consider sequence $g_m = \frac{(m-1)f_m}{m}$ which has the same limit as sequence f_m . Since $\frac{g_{m+1}}{g_m} = \frac{e m^2}{m^2 - 1} \left(\frac{m}{m+1}\right)^{m+0.5} > 1$, then $\lim_{m \to +\infty} g_m > g_2 > 0$ and thus $\lim_{m \to +\infty} f_m > 0$. Formula (2) is obtained by simple application of the laws of limits to (1.3) as follows $\sqrt{2\pi} = \lim_{m \to +\infty} \frac{(f_m)^2}{f_{2m}} =$ $\frac{\left(\lim_{m \to +\infty} f_m\right)^2}{\lim_{m \to +\infty} f_{2m}} = \lim_{m \to +\infty} f_m.$ Thus (1.2) and (1.1) are equivalent in the sense that

each one of them implies the other.

Of many applications of the Stirling formula one is the derivation of the normal distribution as the limiting case of the binomial distribution. In a typical derivation found in many textbooks, one considers an infinite row of cells numbered by integers and a one-dimensional random walk of a point \mathcal{P} that starts at the cell K=0 and at each step jumps from the point it occupies to either the right or left adjacent cell with probability $\frac{1}{2}$.

| -9 | $\left -8\right $ | $\left -7\right $ | -6 | -5 | -4 | -3 | -2 | -1 | 0 | 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8 | 9 | |
|--------|-------------------|-------------------|----|-----|----|----|------------|----------|---|----|-----|----|-----|-----|---|---|---|---|----|
| | 1 1 | •1•7 | c | C 1 | • | • | . <i>σ</i> | ` | | 11 | T.Z | C. | 7.7 | r , | | | | 1 | 11 |

The probability of finding point \mathcal{P} at a cell K after N steps is given by the following table:

| K = | | -7 | -6 | -5 | -4 | -3 | -2 | -1 | 0 | 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8 | |
|--|--|-----------------|-------------------|-----------------|-------------------|--------------------|------------------|------------------|------------------|--------------------|------------------|------------------|-----------------|-----------------|-----------------|-------------------|----|---------|
| N = 0 | | 0 | 0 | 0 | 0 | 0 | 0 | 0 | $\frac{1}{2^0}$ | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | |
| N = 1 | | 0 | 0 | 0 | 0 | 0 | 0 | $\frac{1}{2^1}$ | 0 | $\frac{1}{2^1}$ | 0 | 0 | 0 | 0 | 0 | 0 | 0 | |
| N=2 | | 0 | 0 | 0 | 0 | 0 | $\frac{1}{2^2}$ | 0 | $\frac{2}{2^2}$ | 0 | $\frac{1}{2^2}$ | 0 | 0 | 0 | 0 | 0 | 0 | |
| N=3 | | 0 | 0 | 0 | 0 | $\frac{1}{2^3}$ | 0 | $\frac{3}{2^3}$ | 0 | $\frac{3}{2^3}$ | 0 | $\frac{1}{2^3}$ | 0 | 0 | 0 | 0 | 0 | |
| N=4 | | 0 | 0 | 0 | $\frac{1}{2^4}$ | 0 | $\frac{4}{2^4}$ | 0 | $\frac{6}{2^4}$ | 0 | $\frac{4}{2^4}$ | 0 | $\frac{1}{2^4}$ | 0 | 0 | 0 | 0 | |
| N=5 | | 0 | 0 | $\frac{1}{2^5}$ | 0 | $\frac{5}{2^5}$ | 0 | $\frac{10}{2^5}$ | 0 | $\frac{10}{2^5}$ | 0 | $\frac{5}{2^5}$ | 0 | $\frac{1}{2^5}$ | 0 | 0 | 0 | |
| N=6 | | 0 | $\frac{1}{2^{6}}$ | 0 | $\frac{6}{2^{6}}$ | 0 | $\frac{15}{2^6}$ | 0 | $\frac{20}{2^6}$ | 0 | $\frac{15}{2^6}$ | 0 | $\frac{6}{2^6}$ | 0 | $\frac{1}{2^6}$ | 0 | 0 | |
| N = 7 | | $\frac{1}{2^7}$ | 0 | $\frac{7}{2^7}$ | 0 | $\frac{21}{2^{7}}$ | 0 | $\frac{35}{2^7}$ | 0 | $\frac{35}{2^{7}}$ | 0 | $\frac{21}{2^7}$ | 0 | $\frac{7}{2^7}$ | 0 | $\frac{1}{2^{7}}$ | 0 | |
| | | | | | | | | | | | | | | | | | | |
| The nonzero entries are $\frac{1}{N!}$ multiples of the binomial coefficients $N!$ | | | | | | | | | | | | | | | | | | |
| 1 HC HOH | The holizero entries are $\frac{1}{2^N}$ multiples of the binomial coefficients $\frac{1}{\left(\frac{N+K}{2}\right)\left(\frac{N-K}{2}\right)}$ | | | | | | | | | | | | | | | | | |
| $ K \leqslant N$ | V wi | ritte | n as | eve | en fi | inct | ions | of | K . | Th | le pi | oba | bilit | y I | P(K) | (\tilde{N}) | of | finding |

point \mathcal{P} at a cell labeled K is given by

$$P(K,N) = \begin{cases} \frac{N!}{2^N \left(\frac{N+K}{2}!\right) \left(\frac{N-K}{2}!\right)}, & \text{if } |K| \leq N; N-K \text{ is even,} \\ 0, & \text{otherwise.} \end{cases}$$
(1.4)

For N sufficiently large and $|K| \ll N$, formula (2) allows us to approximate $N! \approx \sqrt{2\pi N} N^N e^{-N}$, $\frac{N \pm K}{2}! \approx \sqrt{\pi (N \pm K)} \left(\frac{N \pm K}{2}\right)^{\frac{N \pm K}{2}} e^{-\frac{N \pm K}{2}}$ which upon substitution into $\frac{N!}{2^N \left(\frac{N+K}{2}!\right) \left(\frac{N-K}{2}!\right)}$ lead to approximation $\frac{N!}{2^N \left(\frac{N+K}{2}!\right) \left(\frac{N-K}{2}!\right)}$

 $\approx \sqrt{\frac{2}{\pi N}} e^{-\frac{K^2}{2N}}$ of the binomial distribution by the normal distribution . The given derivation of the normal distribution is based on formula (1.2)

with all difficulties buried in (1.2), or equivalently in (1.1). One would assume that formulas as fundamental as (1.1) and (1.2) had an intuitive proof, yet as pointed out in Gowers (2008), all proofs of (1.1) seem to contain a non-intuitive step with an identity or an estimate magically pulled out of a hat. Attempts to find a simple intuitive proof have led to a rather large number of publications some of which are listed in Bibliography, yet none seems to be fully intuitive. Most assume that formulas (1.1) are known and try to construct an appropriate proof. But is it possible to arrive at formulas (1.1) in a completely natural way without any magical steps? The author of this paper thinks it is and will show how in the next section based on the ideas outlined in Kovalyov (2009).

§2. Intuitive derivation of the Wallis formula and the normal distribution.

For simplicity's sake let us take

$$N = 2n \text{ is even} . \tag{2.1}$$

Then

$$P(-2k,2n) = P(2k,2n) = \begin{cases} \frac{(2n)!}{2^{2n} (n!)^2} \cdot \frac{(n!)^2}{(n+k)!(n-k)!} = \frac{(2n)!}{2^{2n} (n!)^2} \prod_{j=1}^k \frac{n - (k-j)}{n+j} \\ = \frac{(2n)!}{2^{2n} (n!)^2} \prod_{j=1}^k \frac{1 - \frac{k-j}{n}}{1 + \frac{j}{n}}, \text{ if } 0 \le k \le n, \\ 0, \text{ if } k > n. \end{cases}$$
(2.2)

Coefficients P(2k, 2n) also satisfy

$$\sum_{k=-n}^{n} P(2k,2n) = \sum_{k=-n}^{n} \frac{(2n)!}{2^{2n}(n+k)!(n-k)!} = \left(\frac{1}{2} + \frac{1}{2}\right)^{2n} = 1.$$
(2.3)

The main idea of the derivation of (1.1b) is to estimate P(2k, 2n) in (2.2) by using rather intuitive approximations $1 - \frac{k - j}{n} \approx e^{\frac{j-k}{n}}, 1 + \frac{j}{n} \approx e^{\frac{j}{n}}, \frac{1 - \frac{k-j}{n}}{1 + \frac{j}{n}} \approx e^{-\frac{k}{n}}$ which lead to $\prod_{j=1}^{k} \frac{1 - \frac{k-j}{n}}{1 + \frac{j}{n}} \approx e^{-\frac{k^2}{n}}, \frac{2^{2n} (n!)^2}{(2n)!} P(2k, 2n) \approx e^{-\frac{k^2}{n}}$ and $\frac{2^{2n} (n!)^2}{(2n)!\sqrt{n}} \sum_{\substack{k=-n \ =1 \text{ due to } (2.3)}}^n P(2k, 2n) \approx \sum_{\substack{k=-n \ approaches \sqrt{\pi} \\ as n \to +\infty}}^n \frac{1}{\sqrt{n}} e^{-\frac{k^2}{n}}$ which, in turn, imply (1.1). The prob-

lem is that the approximations are valid only for $|j| \leq |k| \ll n$, $|k-j| \leq |k| \ll n$ and as k gets close to $\pm n$ the approximations lose their validity for values of j and k-j close to n.

To turn these ideas into a rigorous proof we break up the set $-n \leq k \leq n$ into the core $|k| \leq n^{\varepsilon+0.5}$ and two tails $n^{\varepsilon+0.5} < |k| \leq n$, with $0 < \varepsilon < 0.5$ to be determined later, so that inside the core approximations $1 - \frac{k-j}{n} \approx e^{\frac{j-k}{n}}$, $1 + \frac{j}{n} \approx e^{\frac{j}{n}}$ are valid while the total probability of \mathcal{P} being outside the core approaches zero as $n \to +\infty$.

For large *n* the total probability of \mathcal{P} being in one of the two tails is

$$1 - \sum_{|k| < n^{0.5+\varepsilon}} P(2k, 2n) = \sum_{|k| \ge n^{0.5+\varepsilon}} P(2k, 2n) = 2 \sum_{k \ge n^{0.5+\varepsilon}} P(2k, 2n) \le 2^{-n^{2\varepsilon}} n, \qquad (2.4)$$

and hence goes to 0 as $n \to +\infty$. Indeed, taking for simplicity's sake k > 0,

$$\sum_{k \ge n^{0.5+\varepsilon}} P(2k,2n) = \underbrace{\frac{(2n)!}{2^{2n} (n!)^2}}_{\substack{\text{this term is}\\ \text{less than 0.5}}} \sum_{n^{0.5+\varepsilon} < k \le n} \prod_{j=1}^{\kappa} \frac{n - (k-j)}{n+j} < 0.5 \sum_{n^{0.5+\varepsilon} < k \le n} \prod_{j=1}^{\kappa} \frac{n - k + j}{n+j} = 0.5 \sum_{\substack{n^{0.5+\varepsilon} < k \le n \\ j \le n^{0.5+\varepsilon} < k \le n}} \prod_{j=1}^{k} \left(1 - \frac{k}{n+j}\right) \\ \leq 0.5 \sum_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes it} \\ \text{larger}}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes it}}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \\ \text{makes} i \\ \text{makes} i \end{bmatrix}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \\ \text{makes} i \end{bmatrix}}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \\ \text{makes} i \end{bmatrix}}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \\ \text{makes} i \end{bmatrix}}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \\ \text{makes} i \end{bmatrix}}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \\ \text{makes} i \end{bmatrix}}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \\ \text{makes} i \end{bmatrix}}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \\ \text{makes} i \end{bmatrix}}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \end{bmatrix}}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \end{bmatrix}}} \prod_{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \end{bmatrix}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \end{bmatrix}}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \end{bmatrix}}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \end{bmatrix}}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \end{bmatrix}}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \end{bmatrix}}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \end{bmatrix}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \end{bmatrix}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \end{bmatrix}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \end{bmatrix}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \end{bmatrix}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \end{bmatrix}} \prod_{\substack{n^{0.5+\varepsilon} < k \le n \\ \text{makes} i \end{bmatrix}} \prod_{\substack{n$$

$$\leq 0.5 \sum_{n^{0.5+\varepsilon} < k \leq n} \left[\left(1 + \frac{1}{n^{0.5-\varepsilon}} \right)^{-n^{0.5-\varepsilon}} \right]^{n^{2\varepsilon}} \leq 0.5 \left[\underbrace{\left(1 + \frac{1}{n^{0.5-\varepsilon}} \right)^{-n^{0.5-\varepsilon}}}_{\approx \frac{1}{e} < \frac{1}{2} \text{ for large } n} \right] \underbrace{\sum_{n^{0.5+\varepsilon} < k \leq n}}_{< n} \leq \frac{0.5n}{2^{n^{2\varepsilon}}}$$
 Inside the core $P(2k, 2n)$ satisfies

 $2^{2n} (al)^2$

$$e^{-\frac{k^2}{n}}e^{-n^{-0.5+3\varepsilon}} \leqslant \frac{2^{2n} (n!)^{-}}{(2n)!} P(2k,2n) \leqslant e^{-\frac{k^2}{n}}e^{n^{-0.5+3\varepsilon}}, \text{ if } |k| \leqslant n^{\varepsilon+0.5}$$
(2.5)



Due to P(-2k,2n) = P(2k,2n) it suffices to prove (2.5) for $k \ge 0$. To do so we employ inequality

$$e^{x-x^2} \leq 1+x \leq e^x$$
, for $|x| \ll 1$. (2.6a)

To prove (2.6a) notice that functions $w_1(x) = e^x - 1 - x$, $w_2(x) = 1 + x - e^{x-x^2}$ are analytic and satisfy $w_1(0) = w_2(0) = w'_1(0) = w'_2(0) = 0$, $w''_1(0) = w''_2(0) = 1$. Thus each of them must of the form $0.5x^2 + o(x^2) > 0$ for x sufficiently small.

Inequality (2.6a) applied with $x = -\frac{k-j}{n}$ and $x = \frac{j}{n}$ gives us

$$e^{-\frac{k-j}{n} - \left(\frac{k-j}{n}\right)^2} \leqslant 1 - \frac{k-j}{n} \leqslant e^{-\frac{k-j}{n}}, \tag{2.6b}$$

$$e^{\frac{j}{n} - \left(\frac{j}{n}\right)^2} \leqslant 1 + \frac{j}{n} \leqslant e^{\frac{j}{n}}.$$
(2.6c)

Dividing (2.6b) by (2.6c) we obtain

$$e^{-\frac{k}{n} - \frac{(k-j)^2}{n^2}} \leqslant \frac{1 - \frac{k-j}{n}}{1 + \frac{j}{n}} \leqslant e^{-\frac{k}{n} + \frac{j^2}{n^2}},$$
 (2.6d)

which yields

$$e^{-\frac{k^2}{n} - \sum_{j=1}^{k} \frac{(k-j)^2}{n^2}} = e^{-\sum_{j=1}^{k} \left[\frac{k}{n} + \frac{(k-j)^2}{n^2}\right]} \leqslant \prod_{j=1}^{k} \frac{1 - \frac{k-j}{n}}{1 + \frac{j}{n}} \leqslant e^{\sum_{j=1}^{k} \left[-\frac{k}{n} + \frac{j^2}{n^2}\right]} = e^{-\frac{k^2}{n} + \sum_{j=1}^{k} \frac{j^2}{n^2}} .$$
(2.6e)

Using $\frac{1}{n^2} \sum_{j=1}^k (k-j)^2 = \frac{k(k-1)(2k-1)}{6n^2} = \frac{2k^3 - 3k^2 + k}{3n^2} \leqslant \frac{k^3}{6n^2} \leqslant \frac{(n^{0.5+\varepsilon})^3}{n^2} \leqslant n^{-0.5+3\varepsilon},$ $\frac{1}{n^2} \sum_{j=1}^k j^2 = \frac{k(k+1)(2k+1)}{6n^2} = \frac{2k^3 + 3k^2 + k}{6n^2} \leqslant \frac{k^3}{n^2} \leqslant \frac{(n^{0.5+\varepsilon})^3}{n^2} \leqslant n^{-0.5+3\varepsilon} \text{ valid}$ for $0 < k \leqslant n^{0.5+\varepsilon}$ we may further simplify (2.6e) to (2.5). Multiplying (2.5) by $\frac{1}{\sqrt{n}}$ and summing up in k we obtain

 $\left[n^{-0.5}\sum_{|k| < n^{0.5+\varepsilon}} e^{-\frac{k^2}{n}}\right] e^{-n^{-0.5+3\varepsilon}} \leqslant \frac{2^{2n} (n!)^2}{(2n)!\sqrt{n}} \sum_{|k| < n^{0.5+\varepsilon}} P(2k,2n) \leqslant \left[n^{-0.5}\sum_{|k| < n^{0.5+\varepsilon}} e^{-\frac{k^2}{n}}\right] e^{n^{-0.5+3\varepsilon}} (2.7a)$

which upon division by $\sum_{|k| \leq n^{0.5+\varepsilon}} P(2k, 2n)$ becomes

$$\frac{\left[n^{-0.5}\sum_{|k|\leqslant n^{0.5+\varepsilon}}e^{-\frac{k^2}{n}}\right]e^{-n^{-0.5+3\varepsilon}}}{\sum_{|k|\leqslant n^{0.5+\varepsilon}}P(2k,2n)}\leqslant \frac{2^{2n}(n!)^2}{(2n)!\sqrt{n}}\leqslant \frac{\left[n^{-0.5}\sum_{|k|\leqslant n^{0.5+\varepsilon}}e^{-\frac{k^2}{n}}\right]e^{n^{-0.5+3\varepsilon}}}{\sum_{|k|\leqslant n^{0.5+\varepsilon}}P(2k,2n)}.$$
 (2.7b)

If we take

$$0 < \varepsilon < \frac{1}{6} \tag{2.8}$$

then $\lim_{n \to +\infty} e^{n^{-0.5+3\varepsilon}} = \lim_{n \to +\infty} e^{-n^{-0.5+3\varepsilon}} = 1$, $\lim_{n \to +\infty} \sum_{|k| \le n^{0.5+\varepsilon}} P(2k, 2n) = 1$ due to

(2.3) and (2.4),
$$\lim_{n \to +\infty} \frac{1}{\sqrt{n}} \sum_{\substack{|k| \le n^{0.5+\varepsilon}, \\ k \text{ is even}}} e^{-\frac{k^2}{n}} = \int_{-\infty}^{+\infty} e^{-t^2} dt = \sqrt{\pi} \text{ and as } n \to +\infty$$

the limits of the first and third terms in (2.7b) exist and are equal to $\sqrt{\pi}$. By the well-known theorem of Calculus the limit of the middle term $\frac{2^{2n} (n!)^2}{(2n)!\sqrt{n}}$ must also exist and be equal to $\sqrt{\pi}$ thus proving (1.1b). Notice that the identity $\int_{-\infty}^{+\infty} e^{-t^2} dt = \sqrt{\pi}$ comes from multivariable calculus, its proof follows from the

string of identities
$$\left[\int_{-\infty}^{+\infty} e^{-t^2} dt\right]^2 = \int_{-\infty}^{+\infty} e^{-x^2} dx \int_{-\infty}^{+\infty} e^{-y^2} dy = \iint_{\mathbb{R}^2} e^{-x^2 - y^2} dx dy = \int_{-\infty}^{+\infty} e^{-x^2 - y^2} dx dy dy = \int_{-\infty}^{+\infty} e^$$

We may rewrite (2.5) as

$$e^{-n^{-0.5+3\varepsilon}} \frac{(2n)!\sqrt{n\pi}}{2^{2n} (n!)^2} \leqslant P(2k,2n)\sqrt{n\pi} \ e^{\frac{k^2}{n}} \leqslant e^{n^{-0.5+3\varepsilon}} \frac{(2n)!\sqrt{n\pi}}{2^{2n} (n!)^2}.$$
(2.9)

Since the first and third terms of (2.9) approach 1 as $n \to +\infty$, we conclude that

$$\lim_{n \to +\infty} P(2k, 2n) \sqrt{\pi n} \ e^{\frac{k^2}{n}} = 1,$$
(2.10a)

and consequently

$$P(2k, 2n) \approx \frac{1}{\sqrt{\pi n}} e^{-\frac{k^2}{n}},$$
 (2.10b)

providing us with the simplest case of the Central Limit Theorem.

Acknowledgements.

The author would like to thank the reviewer and Dr. Chandler Davis for suggestion on improving the manuscript.

Bibliography

- Brothers, H., Knox, J, 1998. "New closed-form approximation to the logarithmic constant e", The Mathematical Intelligencer, Vol. 20, pp. 25-29.
- Brun, V., 1951. "Walliss og Brounckers formler for π " (in Norwegian), Norsk matematisk tidskrift, Vol. 33, pp. 73-81.
- Diaconis, P., Freedman, D., 1986. "An Elementary Proof of Stirling's Formula", The American Mathematical Monthly, Vol. 93, No. 2, pp. 123-125.
- Coleman, A. J., 1951. "A Simple Proof of Stirling's Formula", *The American Mathematical Monthly*, Vol. 58, No. 5, pp. 334-336.
- Feller, W., 1968. "Stirling's Formula", §2.9 in An Introduction to Probability Theory and Its Applications, Vol. 1, 3rd ed. New York: Wiley, pp. 50-53.
- Feller, W., 1967. "A Direct Proof of Stirling's Formula", The American Mathematical Monthly, Vol. 74, No. 10, pp. 1223-1225.
- Gowers, T., 2008. "http://gowers.wordpress.com/2008/02/01/removing-themagic-from-stirlings-formula/"
- Kovalyov, M., 2009. "Elementary Combinatorial-Probabilistic Proof of the Wallis and Stirling Formulas", Journal of Mathematics and Statistics, Vol. 5, Issue 4, pp. 408-410.

- McCartin, B., 2006, "e: The Master of All", *The Mathematical Intelligencer*, Vol. 28, No. 2, pp. 10-21.
- Mavromatis, H., 1992. "The Wallis formula for π , including two new expressions involving irrationals", *International Journal of Computer Mathematics*, Vol. 43, Issue 3 and 4, pp. 197-203.
- Miller, S., 2008. "A probabilistic proof of Wallis's formula for π ", The American Mathematical Monthly, Vol. 115, No. 8, pp. 740-745.
- Moritz, R. E., 1928. "An Elementary Proof of Stirling's Formula", Journal of the American Statistical Association, Vol. 23, No. 161, pp. 55-57.
- Mortici, 2010. "New improvements of the Stirling formula", Applied Mathematics and Computation, Vol. 217, Issue 2, 15, pp. 699-704.
- Robbins, H., 1955. "A Remark of Stirling's Formula", *The American Mathematical Monthly*, Vol. 62, 26-29.
- Romik, D., 2000. "Stirling's approximation for n!: the ultimate short proof?", The American Mathematical Monthly, Vol. 107, pp. 556-557
- Shozo Niizeki; Makoto Araki, 2010. "Simple and clear proofs of Stirling's formula", International Journal of Mathematical Education in Science and Technology, Vol. 41, Issue 4, pp. 555-558.
- Sondow, J., 2005. "A faster product for π and a new integral for $\ln \frac{\pi}{2}$ ", The American Mathematical Monthly, Volume 112, pp. 729-734.
- Wastlund, J., 2005. "An elementary proof of Wallis product formula for π ", Linkoping studies in mathematics, No. 2.
- Yaglom, A. M. and Yaglom, I. M., 1953. "An elementary derivation of the formulas of Wallis, Leibnitz and Euler for the number π "(in Russian), Uspechi matematiceskich nauk, 8, no. 5, 57, pp. 181-187.